
More examples
of Moc
-



⇐transport. {shIEoGEIR auxcxit ) tutcxit ) =D given
UH,¥H

not . field . 940>sjhfk¥:{¥
..

the charade. -

equations#
'
Cska
>

T
'
= 1 Nss -_ ast}

SEE.FI Effigy.IE/:E:raeg:aaio:tis.a.SXcsyTcshZCsD
Lasse,

Initial Coad
. projected characteristic



A big part of Moc is AZ UH ,ofunderstanding the geometryo.tn#E:EEzJ.f..qG.o.tisff
"

÷:÷÷n÷¥¥:÷:÷:
¥7

East }ssolveforg.in#mt:a:÷÷.X↳¥¥:io



How does next) changes
⇒

to

nkiot-FCMX-qt-tulxip-fk-aaucx.tkfix.at,

is just a rightward
shift; the graph of fcx)

moves to the right atspeed a
units ofxlamtofh.me .



Bmgersicguatioux.IE/UUxtUt=#
'¥tT¥¥o¥f et

'

vector field _y IN
tragedians G-f. 0> IEnaxo.
⑦ ¥i÷÷¥f¥¥¥a.



Solve 1.→start from ⇒At
that, thanx¥÷¥iiIh

1375+3
,
s,fC3D

•

sistania#¥¥#
-

Understand the
Hose#eadhesowehaaur.attend:c.sn#.mojedIesteBkth.



Can you understand
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Just plotting many of
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it is interesting

to play with this question just on paper.


